Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 26/02/2024
Exam Time 9:00 AM - 10:00 AM
Subject [Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1 Eight persons Reena, Kiran, Rahul, Deepak, Amit, Vikas, Preeti and Priva sit around a square table such that two
persons sit in each of the sides. All the persons are sitting facing the centre of the table. Reena sits on the
immediate right of Amit and they both sit on the same side. Preeti faces the one who is second to the left of Kiran.
Preeti is sitting fourth to the right of Reena. Two persons sit between Vikas and Deepak (when counted from one side
only) and Deepak is adjacent to Amit. Only one person sits between Preeti and Rahul (when counted from one side
only). Who is sitting to the immediate left of Deepak?

Ans X 1. Vikas
X 2. Rahul
« 3. Priya
X 4. Reena

Q2 | Sesreu(mLID 6THS 6T6taT, GlamHl&Easul L QgmLflsr aNeorms @ (?) 2 smem @LSHle0 Glum(mbg)n?
99, 91, ?, 74, 65, 57
Ans X 1. 89

X2 86

3 82

X4 78

Q3 QarhéslulL FosturlenLd FWMSS 6The @ et Gmui{H\&smmess) ¢6iTmI 8 6l& mesTm)
@LwrmmuuL Geussor(hb?

18+2+6-8x24=22
A X1+ bmmyb +
2. xm'r_i_‘;@m+
X 3. X LDMMILD -
X4 x m;_i_‘;@|_b+



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Q4 @m sam eNHulL Hlemevulley @ QBTLITETS GarHss Ul (HeTerg . CsmLsnr Hlenmey
ClFWWLD susnasuiley ClsmhasuuLl(herarensuseflsy @ (Hba Fflwmest TMenME C&FHEI
6T(h &&aLD.

SW, uQ, 05, QMm, ?

Ans w1 KO

X2 KR
X 3. RS
X 4 KM

Q5 e EOIUALL GMIUSLEH Gumfluisy, BHUTAN eretruigl UHBVCP ereoteyld, GREECE 6TetTLIS)
ERGGEG eteoreyd (GmludlL Ll Lmsv, FRANCE eretTLIgy) ereueumm) (GmiluilLini(hlb?

Ans 1. ARFPEG

< 2. GSBODF
X 3. ARFECN
X 4. GSBECN

Q6  Pointing towards a photo of a man. Ram said, “He is the father of my mother’s husband”. Howis the man related to
Ram?

Ans X 1. Uncle

X 2. Brother
X 3. Father
+ 4. Father's father
QT G\TetETLTEUS| 6UTT&ENS (LDSH6V CUTTEHNSHILL6ST GSTLTLemL WG] Gumeu@ey, pLoesT mmeug)
BUMTT&H 6N S L 6T GISTLILemLW eSlsnLemw CHIHolSH (H&HSHeLD.
CHTLLLD : LLESEIT i MIT6VSLD : ?
AN v UBSEmIST
X 2. HE06VEEUFRISH6T
X 3. umL(hl&eir
X 4. GLOEME&6IT
Q.8  Five friends P, B, C. G and H are sitting around a circular table facing towards the centre. H is sitting to the immediate
right of C. B sitting third to the left of H. P is not an immediate neighbour of C. Who is sitting on the immediate right of
G?
Ans & 1. C
X2 B
X3 H

X4 P



https://applink.adda247.com/d/XhqWf9lSap
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Q% Qar@sslulL aHLUSESTeY sugeurisetlsy @ mbal , Car@Hsslul(Herer Casmall sugeaud
wenMESLUUL(HeTem /2 LelumSlSsLulL eemenmsd C&THo&H(HeEHe. (FLpmnEl ienind
@6vemsv)

Ans

o 4.

SRR

Q.10

esteu(mLd Caemails &, Clam(hlésUuLL mmmI&sshedl(mha 615 TLTL ML 61L& 5]
Geomgenw G5 H6lS (H& S LD.

BHL:YEI::?

Ans X 1. OLM : NOP

X 2. ABC:DQR

v 3. AMG : X]D

A4 LOB:WZA

Q1 Qstreumid e1Ha eretor, GlamRHleaslulL GgrLflsr efemaEn) (?) 2 smer @L&Hle0 QummhSIn?
2,5,11,23,47,7,191

Ans X 1. 80
<290
3 95
X4 85



https://applink.adda247.com/d/XhqWf9lSap
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Q.12

Ans

T00R50S 18 T9=152 oMmmJb 84 R30S 80 T 4 = 134 erevflev, 75 R 1255200 T 40 =?

X 1.200
v 2. 205
X3 185
%4180

Q.13

Ans

P+ Q eTedTmmev P sTedTLI6UT Q 6Sl65T FCHTHITIT 6T60T6YLD , P~ Q 6T65TMIM6L P TedTLIOUT Q 69163T Sy
eT6oTeYLD , P+ Q 6T60TMT6L P eTedTLIOUT Q 691607 HHemS 6Te0TaLDd , LOMMILD P — Q 6T60TMIT6V P eT6dTLIOUT Q
elstT #FCHMHIf] 6T60TEYLD YT SHLOMEI6TT S

AxB+C-D+E-F etesflev, E stedTLI6UT A elM)(&) 6TeoT60T 2_M6Y)?
X1 D&l

¥ 2. 1D& 611607 LD&6ETT

X 3. GTWITF

x 4. FGaM5Ifl

Q.14

Ans

Netreu(mLd Casraliuisy, Clam(hsas ULl L wrmmsserled)mbgl eNems @& ml(?) e_ster @)L ss0
6Th& 6Ulg6ULD GILM(MHESILD eTert GH ey blFILIS.

I ?



https://applink.adda247.com/d/XhqWf9lSap
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Q15 AB er6T GaTLI960T 158 69(h SH6T0TEROTTIWIMENTS| sneusa&LILE SIS eresllsy, e mULSEST6Y
sulgeUmIEEITl6L 6THS eulgeuLDd Glam(hlEslLL (hsTer CGosall sugsug Hlesr Fiflwimesr bULLTES

@) (m&&LWD?
A

a4
av

b

Ans

Pao
1 v.a
re

P a
X 2. N
N B

Pa

Fe

Pa

e
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Q16 Aesteupid Cametaluley, QaTHI&ESIUL L Inmhmidsasetefmhal, eflsrmde@ml(?) o_drer
@LESI6) eThS eulgealld QIUMBHSILD 6TeoT GH6Y GlFIs.
A
M| L. K
A
Ans
x 1- Q
A
A
x 2 E
X 3.
; A
A
o 4
Q17

Ans

ClaEmhasUULL UTTSHNSSHN6T ST suflenaliLl, suflenaU(hsHgs:
1. PINK

2. PING

3. PICK

4. PULL

5. PUSH

v1.3,2,1,45

X2 341,25

x3.3,1,2,45

x4 3,54,2,1



https://applink.adda247.com/d/XhqWf9lSap
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Q.18

Ans

In the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusion logically follows the given statements.
Statements:

ILNoSig T

II. Some U are S.

Conclusions:

I. Some U are not T.

II. Al T are U.
X 1. Only conclusion IT follows

# 2. Both conclusions I and II follows

+ 3. Only conclusion I follows

X 4. Neither conclusion follows

Q.19

Ans

GCarhssuulL afl(HLUUSEHTe] eulgeumisSsTley @) mh&l, ClamhlasiuLl (hsrsr Cssrall eulgeuld
WenM&SLILIL(Hl6TeT /2 LelumhlsaslulL sgerenmnsd CaHImbls(hHssa . (spndl
SIS S & LILILaTsuens)

\

X 1.



https://applink.adda247.com/d/XhqWf9lSap
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Q20 esren(meussTeUMMED 6THS T(LDSEIS (5(LDETNGVIETET 6105 5I5H6T ClaTHsslul L Qg Ll
ClarLysFFwms @ILLO(HHE susurs sneusSLILHILGEUTSE HECISTLEDT Hlemmey Gl&wiw|LD?

defghd_fghd_fghdef_hdefgh_efgh
Ans X 1. eged

« 2. eeqgd

x 3. efgh

X 4. fdgh

Section : Part-B-General Knowledge and General awareness

Q1 In which year did Abhinav Bindra create history by becoming the first Indian to win an individual gold medal at the

Olympic Games in the 10-meter Air Rifle event?
Ans X' 1. 2005

X 2.2010

3. 2008

X 42000

Q2 Which state's government launched Gruha Lakshmi Scheme 20237

Ans X 1. Kerala
X 2. Tamil Nadu
« 3. Telangana

& 4. Haryana

as Gy etresfllm&lwmaslear Gamemmailsv Ggmesrmilw & 6M6VILITEITS, 25607 GlLILIEnT

L|TT6toT && MUMSSTLomssT Lowls &L Comslsofluiedl(mmbgl GlumiSms.
A v GurdlesflwmiLib

X 2. evoflLILf] BL6sTLD

X 3. 9o HL6BTLD

X4 UTSBHTLLIgWILD

Q4 The Attorney-General for India shall hold office during the pleasure of the

Ans X 1. Prime Minister
X 2. Law Minister of India
+ 3. President of India
X 4. Chief Justice of India



https://applink.adda247.com/d/XhqWf9lSap
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Q.5

Ans

SleaTeu(HLD 6Th& S Sl(HeNILT Bi(HetorTEgFeul) LNTEa a5 ST Hmibglen (Khamtis) LILPMHI(&lguSl6oTimsy
ClamesorLmLLILI(hi&SIm&)?

X 1. @Gurdlesr (Mopin)
X 2. &b surm(hl (Tam ladu)
X 3. @ir(Reh)

v 4 gmlGleetT (Sangken)

Q6 WWhat is the rank of India in terms of the World's area among the countries of the world?
Ans 1. Tth
X 2. 5th
< 3. 8th
< 4. 6th
Q7 glirev 8, 1929 @6, UsS Fiy LHMID B.K. 55 HCWITHT @sL gp(m Cleulg (G evoTEmL
eidleoty. Di6useaflstr g svor(hL KT&T&HS60 SamLUILIL(H6TST Lilg, HbHblapellstr ChT&HaD
ClE&mevEUG| 24606V, LOTMTE "ClFellLTHemes CaHlas eneuLiLIg|" 6T60TLIST(SLD.
A X1 wsBlw waessT Gusugenu (Central Legislative Council)
X 2. &SI ClFwm gL Gurensu (Central Executive Assembly)
v 3 &S W WaEsememel (Central Legislative Assembly)
X 4. wmblev FLLWesTML GUemeu (State Legislative Assembly)
Q8 Which sport is played by the Indian sportsperson Sandeep Kumar?
Ans X 1. Boxing
X 2. Wrestling
X 3. Cricket
« 4. Archery
9 Geusmevuletemio 685510, @enLGuwwmest eNl&lFL0mss SevoraSILLILHS DS

Ans

% 1. GeusmevuT ey 6iTeImeU & 61T LOMMILD Gl& MTLOIEVTEITIT 6U6ITLD
v 2. Geusmeuwimm GG TLEVTEITT&6TT LMMILD C1&TLY6VITET 6U6TLD
X3 ClMEs WESHET blHMens LMMILD GG MPIEVTSITT 6U6ITLD

X 4. Geusmevwmm Cl&TLHEVTEITT&ET MM CILDTES &HSET Gl&Tens



https://applink.adda247.com/d/XhqWf9lSap
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Q.10

Ans

&I7H& Gasmlenu (Durand cup)-2y6078) 6ThHS GUITLIgU|L 65T ClSTLTLenLWIS|?
X 1. aunmes)
v 2 &ITeLLIHG)

X 3 umlublesoTL6dT
X4 Hlfl&6lasLl

Q.11

Ans

eo®6pT, 2023 @60 B, WM &leT &myes STyLUGTagesile sumLThHSIT "HErL
@wisresLen” (Great Immigrants) UL igwedl6v 6ThHS @HHWT S sH&eELLL(HETETTT?

X 1. eNl&TLD GlgmenTamLs)
¥ 2 QSO LIMIST
X 3. F6ULDITEDT (Th6Llg

X 4 gmb NLGrmLm

Q.12

Ans

Shiv Kumar Sharma's name is synonvmous with Indian classical music instrument.
X 1. Shehnai

X 2. Tabla

X 3. Sitar

« 4. Santoor

Q.13

Ans

25GLITUF 2023 @sv, @mhdlw flareu surudluiesr BHlFeurs @uisSEHITsS HILLSSSILL LT
wImg?

x 1. 01iflgI60 (SO FMN&IT
& 2. (Lpetery SLLT

X 3. go6uTE [ITED

X 4 7 N, e

Q.14

Ans

SUTHS &L LHMID CISTIfI60 Glenm SenFFSSS6TLY, LT 2022 - soeTeurfl 2023
MBIl WwimesoTigey, efleusmil 5D mIL0&) L&IILIMETS) leveSlwiest 6lfl&s
LIT6VIT&6ITT(SLD.

x<1.13.37
2. 43.37
X3 2337
X 43337



https://applink.adda247.com/d/XhqWf9lSap
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Q.15

Ans

@&l wmellest Lgenloll LTLEIUN6T &Hens 6THS 24,600T(H SHTEVLDTEsTT?
X 1.2013
X2 2003
X 31993
v 4 2023

Q.16

Ans

Mendeleev’s Periodic Law was modified, and ~ was adopted as the basis of the Modern Periodic Table.
X 1. Molar mass

X 2. Similar properties

X 3. Atomic mass

« 4 Atomic number

Q.17

Ans

eU(mHeUMLL suTeseneT UMM SCL GClam(hlaasluL(heTer mlsenasenil Lilg&&eL.

A. 6U(HBUITLL 6UTEY&EIT 6TEOTLIG| HTFTRISSHS 60T 155 CamrliuL subleu@GHeMs sUT6SsT & L0.
B. 6u(f6uUML 6uT6y &6l sulfl 6u(hHeumil LoMMILD 6uflLIVEVTS EL(THEUTI 6T60T 6LEMSLI
ubSsLLL(HeTeTs).

Fflwumest 9|0 &6m&/ M) &M HSHENET 260 L LITETLD SITE60T6L LD.

v 1. Ammb B g &w @ resor(hib

X 2. A Wb -[)6vemsv B-1Lb @levemey

X3 AL

X 4. B LOL(hID

Q.18

Ans

Folk dance of 'Jatra' is originated from the state of:
X 1. Haryana

« 2. West Bengal

X 3. Punjab

A 4. Tamil Nadu

Q.19

Ans

Varahamihira's work Panchasiddhantika deals with astronomical systems.
X 1. Three

X 2. Two

X 3. Four

+ 4 Five



https://applink.adda247.com/d/XhqWf9lSap
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Q20 pewbul 2023 Hleveurliug, EhEH W THWeVemLIN6) eTHSHEMET 2L ILIEHLE SHLENDSET
2 _6ITEI6DT?
Ans X119
v 2 11
<310
x4 8

Section : Part-C-Elementary Mathematics

A1 e Cummsfier @MlssiulL eflensy wHmD eNHuenssT eflenev WemmGw Rs. 2450 WHMILD Rs.
1960 er6vflsv, &H6T(ETHLILY FHENISHLD 6TEOTE0T?

Ans

X 1. 25 #5650
v 2 20 565D
X 3. 24 5569510
X 4. 15 F&605LD

Q2 Gumsesr HmID Grmasest fHGUIM Rs. 3300 &8 @(H Caumevenil GLom )& mesoTL 6o

GLomgs et HeslGW Sibg Geuemeveniu 10 BTL&6MEL GIFLILI UL HMID CITaeir HCSH
GeusmevemiLl 12 BIL&6lMs0 GClFLIW (PIgU|LD. Si6UTEHET E)(HEU(HL GlenewThgl Cesmev
ClFIIS 6L, SI6UTHET @)(HeU(HLD LlILMM Gl TN S ETHE () @lemLulleumsst allg S WITEFLD 6TedT6oT?

Ans X1 Rs. 370
X 2. Rs. 400
X 3. Rs. 350
+ 4 Rs. 300

Q3 @\gevor(y) erevsraefletr 6N G0 3 1 5 AL GD. SeuDM 6T GlU(HESMHLIeVET 3375 aresflev, 216ueFesor(h)
sTstoT&s61flesT Fal (hSH0lSmens eTeorenT?

Ans X 1. 75
v 2 120
%390
<4135

Q4 28 sreyliysiteflsefetr #ymafl 53 gy @EW. WL 11 Sreyliystefaefsi gymaifl 54. senLd) 18
sreyliysrefasfesr grmaf) 52.5 erenflev, 11UB) greyliysirerflufissr Ly erebresr?
Ans 1. 55
X2 59
X3 57
X4 63



https://applink.adda247.com/d/XhqWf9lSap
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Q.5

Ans

@\revor(h) erevoraseifledt 5. Glum. su (HCF) 47 wmmib Seummlesr Fal(helgemena 188 oy (gLw. eTesflev,
24Ih G, 6TEBUTEEM6TTE & 660TL M) LLI6L LD.

X1.141 OmILb 138
X 2215 wmm|b 211
¢ 3. 47 1bmm|b 141
X4 47 oMM 51

Q.6

Ans

epestm) CleusuGeum) erevoraserflsot gl m) Cluimg) L mig, (LCM) 120 (& Lb. eTenflsy,
L9l6tT6U(RHEUsTTEUM M6V 678 Heummletr LBLIGILIH Glumg)s srrewflums (HCF) @(H&e (Pl Wimg?
X115

v 216

X320

X4 40

Q.7

Ans

& BUT (h GUILILL srrsHsleor umdl LGHleni 45 km/hr CoussEHlev HLSEMTYT. sul

B pemem LM HMTsH ST, 40 F&HeligHems 8 km/hr GeussHHsVId MM 55 (LPETET HTTSHENS 24
km/hr GeussHl6v HLEEMTT eTedTMM6L, (LP(L LIW6TITSHS DS LMseT Si6ursl Frmeifl CeusLd eredrsor?
v 1. 144[7 km/hr

X 2.128/7 km/hr

X 3. 164[7 km/hr

K 4.156/7 km/hr

Q.8

Ans

25 srevorssertienT Ermefl 150 Qy(HLD. Fa(hH6urs, (M 6TetoT GFTEHSLILILL 6L 6T SlemL (&L Ll
grmaifl 160. ereoflev, Uhlamas CaTaaLiLLL eTeror eTeiTeoT?

X 1.420
v 2. 410
X3 415
X 4400

Q.9

Ans

(H GDILLLL Gl mengwmesg), Sevfleulguilsv, 2 gyetor(hserflsv Rs. 1320 wmm)d 3
gy eoor(hlseiflev Rs. 1380 g8 oSlafledme) srenflsv, gyeor(h) sully eTl&lsLD ereoTenT?

X 1. 8 ggeisLD
X210 568510
X 3 4 5569510
v 4 5 556150
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Q.10

Ans

15% LmmILb 10% erettm @) y6vor(h) G\STLIFFIITEDT SH6T(6THLILYS(ETHE (S FLOLDTEIT §2(H RMEMME
S6TT(6THLILG6M LIS S660TL M)]LI6Y LD.

x1.21.8%
X2 24 5%
3 23.5%
X 4.225%

Q.11

Ans

C serflwms (| Geusmevenil 50 HTL&sT6L (WLumy wmHmb D sesflurs 2465 Ceusnsveniu, C
6T(h & (&L BILseflsv LM Brisssfley (Wl LMy, BjeuFseT @) (Heu(HD @lensmnThal Clbmss
Geusmeuuilesr 3/10 LMIENS (P95 6THSEMENT HTLSEIT 2, (5LW0?

X 1. 4 BITL&6T
¢ 2 5 [BITL&EIT
X 3. 6.5 BITL&6T

X 4. 6 [BITLE6EIT

Q.12

Ans

L @657 6u(mHLOMesTLD M @)65T 6u(HLOMetTSHemS 6L 30 F&56HGHLD 248D MM M @)6oT u(HLomesTD N
@\etr eu(mTETTHeMS 6L 20 FHel5HD hlsLD. eresflev, N @607 6U(HLOMETLD, L G)65T 6u(HLDTeTSH6m S
edlL (CamymuLms) eTeU6U6TeY F&HENSHLD (56MMEUTS 2_6TeTg)?

X 1. 44 ggeligd
v 2 36 556951
x 3. 39 565D
X 4. 32 556051

Q.13

Ans

18, 24, LMHMILD 36 Y SIWeummlest LB, GlU. 1 (LCM) o0& SevorLMlwieyLd
X1 64
2 72
X3 36
X4 24

Q.14

Ans

A, Bmmib C epeu(ma &L @emLGw Rs. 7400 gysora) (pemmGuw 9: 121 16 etestm 681& &5 S0
NfsslubhSImal. eresflev, B @)est Lirki(g; erebreoT?

A 1. Rs. 2600

A2 Rs. 9200

< 3. Rs. 1800

« 4 Rs. 2400
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Q.15

Ans

750 - 350 + 7 + 43 x 5 @)\60T LOSILIL] eT6oTE0T?
X 1795
X2 935
<3 812
¥ 4 915

Q.16

Ans

(M SaDLI6ST 2 WITLD 24 cm OMMILD 55607 BIgLILISSSHSI6T 2,7 10.5 cm &y, (&LD . sT6vfl6y
21550 DLIN6IT 56012616 6TEOT6T 7

X 1. 2398 cm?
722772 cm?
X'3.2984 cm?
X4 2546 cm?

Q17

Ans

62( 6usTOTI&IT Heor Glummerflstr elsmeveni ClamempaHsv eflsmeveni el 40 #5650 S SWLTHE
GOEEDMT. Sj6uf ClETERFL HeTEHUly ClFLg| 10 F&56IsLD eumu FL(HEIMTIT. ereoflsv,
SEM(EHLIY F&HeNSHLD sT60T60T?

x 1. 20 556081
v 2 21.42 565D
X 3. 14.28 55651
X 4. 25 5560810

Q.18

Ans

If the cost price of an article is 5/8 of its selling price, then what is the profit percentage?
« 1. 60 percent
X 2. 30 percent
X 3. 45 percent
X 4. 75 percent

Q.19

Ans

Al eteoTLIg A2 g0 eIl 19 LLMIE B &LWME @\(HESIMG) ereuilen, A2 geurg| Al g L 618 5 6m 60T
F5605LD (H6OMEUMELD?

X 1. 100 #&6isD
X 2. 105 g5eisLd
v 3 95 ggeligld
X 4. 85 g565LD
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Q20 eom 2F60 QFmensWITeTgl @(F GO L Fal Heully 65555160 (2160T(H)6(E 6 (HLPEHD
gl LULHIWD Wpemmuilev) sLeoTms suprasliubléEmg). 1940 et @miSHunsy, SbsHsH
GlpmensswimenTg) Rs. 1150 @16 &M OMHMID 2 4D yevor(h @miSHluilev Rs 1322.5 ersor
2 H6TTM ). 6T607160, DUHS 2F6L C1SHTEMS 6TELEUETEY?

Ans X 1. Rs. 1750
+ 2. Rs. 1000
X 3. Rs. 1450
X 4. Rs. 1600

Section : Part-D-English

Q1 The sentence has been divided into three parts, identify the error segment in the sentence given below. Choose no error

if there is no error in the sentence.
Before the meeting/ began, he will have already/ left for his lunch break.

Ans X 1. Before the meeting
+ 2. began, he will have already
# 3. no error
X 4. left for his lunch break.

Q.2 1In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.
On the ball

Ans X 1. Ona new journey
X 2. On the contrary
« 3. Alert and aware about something

X 4. To be very excited or joyful

Q.3 Improve the underlined part of the sentence. Choose “No improvement’ as an answer if the sentence is grammatically
correct.

The monkey hung from the tree by its tail.
Ans X 1. by it’s tailed
X 2. by its tails
« 3. No improvement

X 4. by it’s tail

Q4 Four sentences are given, out of which three have all correct spellings. Choose the sentence with the incorrect spelt

word/ words.

Ans X 1. His face was repulsive in the quickening light.

X 2. Rosemary dozed for three hours and then lay awake, suspended in the moonshine.

X 3. His hat was laying on the floor—an old black slouch with the top caved in, like a lid.

4
His hair was long and tangled and gressy, and hung down, and you could see his eyes shinning.
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Q.5

Choose the word that is opposite in meaning to the given word.

Appoint
Ans X 1. Awail
X 2. Instate
< 3. Declare
« 4 Dismiss
@6 Select the sentence with no spelling errors.
Ans X 1. Don’t feel guiltty for feeling disengaged from the news.
X 2. Don’t feel guilty for feeling disengajed from the news.
X 3. Don’t feel guilty for feling disengaged from the news.
« 4. Don’t feel guilty for feeling disengaged from the news.
Q7 Choose the word that means the same as the given word.
Fatigued
Ans X 1. Beguiled
X 2. Unwearied
« 3. Jaded
X 4. Activated
Q.8  Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically
correct.
An ant can carry up to 50 times it’s body weight.
Ans X 1. No improvement
X 2 times its’
A 3. time it’s
« 4 times its
Q.9  Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the sentence is correct as given.
The driver cracked his whip and called to his horses, (and off they swept on their way) to Bukovina.
Ans

+ 1. No correction required

X 2. and off they sweep on their way
X 3. and off they swept on there way
X 4. and of they swept on their way
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Q.10

Ans

Select the most appropriate antonym of the given word.

Maleficent
+ 1. Delightful

X 2. Obedient
/< 3. Thorough

X 4. Bad

Q.11

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

Sham is trying to study hardest for his upcoming exams.
X 1. hisupcoming exams

X 2. No error

X 3. Sham is trying

« 4. to study hardest for

Q.12

Ans

Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

The look in his eyes shocks and scares me a lot.
+ 1. Makes one’s blood run cold
# 2. Sugar rush

X 3. Sixth sense

X 4. In seventh heaven

Q.13

Ans

Select the most appropriate word to fill in the blank.

Religion is matter of indifference to many of today's youth.
X 1. No article
X 2 an

X 3. the
w4 a

Q.14

Ans

Choose the most appropriate antonym of the underlined word.

The speech came to an abrupt end when, losing her balance, she fell to the ground and lay there in
drunken contentment.
X 1. Pleasure
+ 2. Discomfort
< 3. Gratification

X 4. Complacency
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Q15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She works hardly to pay his younger sister’s school fee.
Ans  X'1. No error

X 2. to pay his younger

+ 3. She works hardly

X 4. sister’s school fee.

Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.

Climate change is a pressing global issue that demands immediate attention and action. The (1. seriousness) of
this problem can no longer be denied, as we witness more frequent and severe weather events. It is crucial to (2.
discuss) the causes of climate change, which primarily result from human activities such as the burning of
fossil fuels, deforestation, and industrial processes. To combat climate change, we must reduce our carbon (3.
impression) by transitioning to renewable energy sources, conserving forests, and adopting sustainable
practices in (4. whole) the sectors of the economy. Additionally, individual actions. such as reducing energy
consumption and supporting environmentally-friendly policies, play a vital role in addressing this global crisis. As the
consequences of climate change become more evident, it is imperative that we (5. joint efforts )
protect our planet for future generations.

as a soclety to

SubQuestion No : 16
Q16 Fill in the blank (1) with the appropriate word from the options below:

Ans X 1. absurdity
X 2. complexity
X 3. amenity

o 4. gravity

Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.

Climate change is a pressing global issue that demands immediate attention and action. The (1. seriousness) of

this problem can no longer be denied, as we witness more frequent and severe weather events. It is crucial to (2.

discuss) the causes of climate change, which primarily result from human activities such as the burning of

fossil fuels, deforestation, and industrial processes. To combat climate change, we must reduce our carbon (3.
impression) by transitioning to renewable energy sources, conserving forests, and adopting sustainable
practices in (4. whole) the sectors of the economy. Additionally, individual actions, such as reducing energy
consumption and supporting environmentally-friendly policies, play a vital role in addressing this global crisis. As the
consequences of climate change become more evident, it is imperative that we (5. joint efforts )
protect our planet for future generations.

as a society to

SubQuestion No : 17
@17 Fill in the blank (2) with the appropriate word from the options below:
Ans X 1. evade

+ 2. address

X 3. overlook

/< 4. elaborate
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Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.

Climate change is a pressing global issue that demands immediate attention and action. The (1. seriousness) of
this problem can no longer be denied, as we witness more frequent and severe weather events. It is crucial to (2.
discuss) the causes of climate change. which primarily result from human activities such as the burning of
fossil fuels, deforestation, and industrial processes. To combat climate change, we must reduce our carbon (3.
impression) by transitioning to renewable energy sources, conserving forests, and adopting sustainable
practices in (4. whole) the sectors of the economy. Additionally, individual actions, such as reducing energy
consumption and supporting environmentally-friendly policies, play a vital role in addressing this global crisis. As the
consequences of climate change become more evident, it is imperative that we (5. joint efforts ) as a society to
protect our planet for future generations.

SubQuestion No : 18

@18 Fill in the blank (3) with the appropriate word from the options below:
Ans & 1. footprint
X 2. di-oxide
X 3. emission
X 4. steps
Comprehension:
In the given passage. four options are given for each blank. Select the most appropriate option to complete the given
passage. which also fits contextually as per the word given in the bracket.
Climate change is a pressing global issue that demands immediate attention and action. The (1. seriousness) of
this problem can no longer be denied, as we witness more frequent and severe weather events. It is crucial to (2.
discuss) the causes of climate change, which primarily result from human activities such as the burning of
fossil fuels, deforestation, and industrial processes. To combat climate change, we must reduce our carbon (3.
impression) by transitioning to renewable energy sources, conserving forests, and adopting sustainable
practices in (4. whole) the sectors of the economy. Additionally, individual actions, such as reducing energy
consumption and supporting environmentally-friendly policies, play a vital role in addressing this global crisis. As the
consequences of climate change become more evident, it is imperative that we (5. joint efforts ) as a society to
protect our planet for future generations.
SubQuestion No : 19
Q.19

Fill in the blank (4) with the appropriate word from the options below:
Ans X' 1. every

2. all

X 3. some

X 4. any
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Q.20

Ans

Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.

Climate change is a pressing global issue that demands immediate attention and action. The (1. seriousness) of
this problem can no longer be denied, as we witness more frequent and severe weather events. It is crucial to (2.
discuss) the causes of climate change, which primarily result from human activities such as the burning of
fossil fuels, deforestation, and industrial processes. To combat climate change, we must reduce our carbon (3.
impression) by transitioning to renewable energy sources, conserving forests, and adopting sustainable
practices in (4. whole) the sectors of the economy. Additionally, individual actions, such as reducing energy
consumption and supporting environmentally-friendly policies, play a vital role in addressing this global crisis. As the
consequences of climate change become more evident, it is imperative that we (5. joint efforts ) as a society to

protect our planet for future generations.
SubQuestion No : 20
Fill in the blank (5) with the appropriate word from the options below:

« 1. collaborate
# 2. colonize

X 3. congregate

X 4. commemorate
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Q.3

Ans
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Q7

Ans
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Q.11

Ans
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Q.15
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Q.18

Ans

Comprehension:
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